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46. What is the most logical conclusion that can be 

drawn from the passage given above? 

(a) The incidence of NCDs is directly 

proportional to the spread of COVID-19 

cases in India 

(b) People who do not suffer from NCDs are not 

prone to developing severe illness after 

COVID-19 infection 

(c) NCDs are likely to account for more than 63 

% of all deaths in India in the future 

(d) Tobacco is the only cause of NCDs in India 

 

S.(47) Direction for the following 1 (one) 

item: Read the following Passage and answer 

the items that follow. Your answers to these 

items should be based on the passages only. 

PASSAGE 10 

The period between AD 750 and AD 1200 is 

referred to as the early medieval period of 

Indian history. It was earlier treated by 

historians as a ‘dark phase’. It was so because 

during this time the whole country was divided 

into numerous regional states which were busy 

fighting with each other. But recent studies 

have indicated that, though politically divided, 

India witnessed a growth of new and rich 

cultural activities in the fields of art, literature 

and language. In fact, some of the best 

specimens of temple architecture and Indian 

literature belong to this period. Thus, far from 

being ‘dark’ it may be treated as a bright and 

vibrant phase of Indian history. 

 

47. Which of the following statements are incorrect 

based on the facts mentioned in the passage 

above? 

I. The early mediaeval period of India saw 

great progress in art and literature. 

II.  India was in the middle of a dark phase 

1000 years ago. 

III.  India has never experienced a phase of 

political harmony and peace. 

(a) I and II  

(b) I and III  

(c) II and III  

(d) Only I 

 

48. What comes in place of question mark (?) in the 

given number series?  

4, 24, 6, 48, 8, 80,? 

(a) 8 

(b) 9 

(c) 10 

(d) 4 

 

49.   

372  580  918  

235  405  735  

274  350  ?  

 

(a) 432 

(b) 366 

(c) 345 

(d) 482 

 

 

 


